
整数の割り算（暗算）　３ケタ÷１ケタ(12)
  月  日　  分  秒　  点/15点

　(1) 576 ÷ 6 ＝        　(9) 146 ÷ 2 ＝

　(2) 747 ÷ 9 ＝        　(10) 420 ÷ 5 ＝

　(3) 606 ÷ 3 ＝        　(11) 756 ÷ 4 ＝

　(4) 605 ÷ 5 ＝        　(12) 840 ÷ 8 ＝

　(5) 688 ÷ 8 ＝        　(13) 498 ÷ 3 ＝

　(6) 574 ÷ 7 ＝        　(14) 276 ÷ 6 ＝

　(7) 640 ÷ 4 ＝        　(15) 603 ÷ 9 ＝

　(8) 156 ÷ 2 ＝

このプリントは「算数パラダイス」（https://chugakujyuken-sansuu.com）より無料ダウンロードできます。



整数の割り算（暗算）　３ケタ÷１ケタ(12)

　(1) 576 ÷ 6 ＝ 96     　(9) 146 ÷ 2 ＝ 73

　(2) 747 ÷ 9 ＝ 83     　(10) 420 ÷ 5 ＝ 84

　(3) 606 ÷ 3 ＝ 202   　(11) 756 ÷ 4 ＝ 189

　(4) 605 ÷ 5 ＝ 121   　(12) 840 ÷ 8 ＝ 105

　(5) 688 ÷ 8 ＝ 86     　(13) 498 ÷ 3 ＝ 166

　(6) 574 ÷ 7 ＝ 82     　(14) 276 ÷ 6 ＝ 46

　(7) 640 ÷ 4 ＝ 160   　(15) 603 ÷ 9 ＝ 67

　(8) 156 ÷ 2 ＝ 78  

このプリントは「算数パラダイス」（https://chugakujyuken-sansuu.com）より無料ダウンロードできます。




